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The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
et e fraare ey for :
(a) Which of the following pairs is not perfectly .

8A/244

matched?
e fi AN fPete (POl @R
sf¥wera e @ AR
(i) Ghost in machine—Gilbert Ryle
T fooTe go—a=rib 912

(ii) Verification principle—
Logical positivism

ool MNE—oIH ASFAN
(iii) Philosophical investigations—Moore
Philosophical investigations—q
( Turn Over )



(b)

(c)

8A/244

(2)

(iv) Objective idealism—Hegel
TES SRAM—CZTE

“Language has many functions.” The
philosopher associated with this view is

“orE fifen fem w1 @} TOGR AT
e mrHfeEe (R '
(i) Russell
qMCRE
(ii) Moore
RAl
(iii) early Wittgenstein
WW’CW@I
(iv) later Wittgenstein

R EERIGICRCRIETHAED

( Choose the correct alternative )

(o st Al Sferear )

Can a fact be either true or false according
to Russell?

AT/ T© @Al O A A TG 2
T 2

( Continued )

(d)

(e)

8A/244

(3)

According to Russell, a proposition is a/an
IR TS (AT 6+ (207 9F
(i) simple symbol
T AOE
(ii) complex symbol
wiba 2SI

(iii) incomplete symbol

ey o8I
( Choose the correct alternative )

(wm Rescr qf> Sfesa )

Which one of the following is true?
TR (PO 8% ?
(i) Moore is an idealist.
T Cxr QRTR! SRAT |
(ii) Moore is a common sense philosopher.

T 0ZR @SRIF YR A A S
Gised

(iii) Moore refutes philosophy of sense data.

@ 2R Tere A XIEE O e
e SRR
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(f) Language, Truth and Logic is the chief

(g)

8A/244

(4)

work of

Language, Truth and Logic Fare &m-
SRIPI 24 T6411 2

(i) Russell
qICRe

(if) G. E. Moore
L2 |

(iii) Husserl
e

(iv) Ayer
RIS

( Choose the correct alternative )

(= R aift Sfaear )

The ‘official doctrine’ is the theory that

TR TG0 T G 4T ©F IS

(i) mind and body are the same thing
TR HF T GTF2

(ii) mind and body are the separate entities

T2 SIF 4 {O! 7J3F @]

( Continued )

8A/244

(S)

(iii) other mind doesn’t exist

e T S R

( Choose the correct alternative )

(= Reseor Al S )

directed :

TR oo il ereaee vy TR e

(a) Match the following four pairs correctly :

were fral @R 5o wses ficamr :
(i) Vienna Circle—Picture Theory
fSam v —Baae ©g A1 afoRawm

(ii) Wittgenstein—Schlick
TroTE TR

(iii) Esse est percipi—Russell

AFHCS S Rumm—acze

2. Answer briefly the following questions as

2x4=8

lox4=2

(iv) The problems of philosophy—Berkeley

( Turn Over)



(6) (7)

(b) What is subjective idealism? 2 (d) Bring out Wittgenstein’'s account on
S S T 52 ‘Language and Reality’.
TR OFl SF e’ RO SR |
(c) What is family resemblance? 2 s
(e) How did Moore distinguish between ‘blue’
R g £ 2 and ‘the consciousness of blue’?
(d) What is a fact, according to Russell? 2 o 1 e
oiefey e e ?

LT FC© O TG 2
() Briefly discuss Ryle’s ‘category mistake’

3. Answer any three of the following questions : with the help of suitable example.
5x3=15 TR TR RS I ‘ciire Rafe
wero et erptgRa R e fofbm Tag fora TR’ 3 AT B SCTA SISRCERT |

(a) In what sense philosophy is said to be a
therapeutic enterprise? Make a critical note 47 AT s SRl
10x3=30

in brief.

were faal epriEd R e fofivr Se fom -
& wefe i @7 e a1 BRecorrFE
A T A oem oW e «f

(a) Bring out any five characteristics of Analytic

ik Philosophy. 2x5=10
Rogaee ™ R e ¢ | @
(b) Write a short note on Vienna Circle. SR |
fSwm varg Rac ofp 59 GOt o | (b) Explain and examine Russell’s philosophy of
P logical atomism. 10
¢ at is linguistic philosophy?
P phy AR ST ARAQER vy R A
I oy gfercat R qeamn = 9 IR |
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(8)

(c) How did Moore refute Berkeley’s dictum

‘Esse est percipi’? Discuss. 10
TR IR Coerme S Rmmm S
T {4 IfRe 2 HICEAD 41 |

(d) Why does Wittgenstein compare words with
tools? What are the various functions that
we perform with language? Explain after
Wittgenstein. 5+5=10
CHUiERE e w Sghr @ we
TR ? SR TEEe Wi e 391 [{fea Fr-
QR & 7 TRpesfEeizm JorpiR = 4 |

(e) Give a critical account of Ryle’s refutation of
Cartesian dualism. 10

T PO AT 99T R 9 Roger
T SHI9RCG |

(f)  Give an account of Wittgenstein’s notion of
language game. 10

TROUsTRAB IR Ol (e {1l ST i

* k K
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